### **KURUKSHETRA UNIVERSITY**

### **KURUKSHETRA**

Established by the state legislature Act-XII of 1956 ("A+" Grade,NAAC Accredited)



### **RESULT GAZETTEE**

**OF THE** 

MASTER OF COMMERCE SEM-03 EXAMINATION

**MAR-2024** 

**COPYRIGHT RESERVED** 

**PUBLISHED BY AUTHORITY** 

PRICE :RS.

(Including Postage)

### **KURUKSHETRA UNIVERSITY KURUKSHETRA, HARYANA**

Result of each candidate is shown in the column of Result. Marks shown for Pass candidates and other Abbreviations are as below.

Abbreviation Stands For

'C' Compartment and to re-appear in the subject shown,till MAR- 2026 unless otherwise

Eligible/Stated.

'RLA' Result later for non-receipt of Awards form the Examiner or discrepancy therein.

'RL(UMC)' Result later for alleged use of Unfair Means.

RPFD Result provisional for want of dues mentioned against each.

'CC' Result is cancelled due to non-receipt of lower exam result/documents/s.

'RP' Result provisional for settlement of Improvment of Marks / Division.

'RPR'
'PID'
Result later due to Discrepancy in marks or any other dispute.

'RLD' Result later due to Discrepancy in marks or any o'
'ML' Marks later due to DIVISION.

Other Contents.

1. List of Candidates.

2. Pass percent.

3. Merit list.

#### **IMPORTANT NOTES**

- THIS RESULT GAZETTE MUST BE READ ALONGWITH "ADDENDA AND CORRIGEND. SUPPLEMENTARY LIST/S
  AND THE NOTIFICATION/S IN PARTIAL SUPERSESSION OF THE RESULT DECLARED IN THE GAZETTE, IF ANY.
- 2. College candidates will receive their Detailed-Marks-Cards (DMC) through the Principal of their Institutions. In case of non-receipt candidates should write through Principal not direct.
- 3. All private candidates will receive the DMC within ten days from the date of declaration of the result. If any candidate does not receive the same within fortnight of the declaration of the result or any result remains 'RL' the candidate should write to Asst/dy. Registrar Tell. No. 238582 and EPABX- 2461.
- 4. No Application for original Detailed-Marks-Card/Certificates will be entertained after a period of three months from the date of declaration of result.
- 5. All enquiries regarding result should be addressed to Dy/Asst. Registrar (Exam-I) KU Kurukshetra.
- 6. Re-evaluation of Answer-book(s) in Theory paper(s) is permissible within 20 days of the date of publication of result or 15 days of dispatch of DMC by the University, whichever is later, on submission of Application form which can be had from the Manager, Printing and Publications KURUKSHETRA UNIVERSITY, KURUKSHETRA on payment of Rs. 10/- at the counter or by remitting Rs. 30/-, if required by Regd. Post. It must be accompanied by Original DMC and Re-evaluation fee of Rs. 300/- per paper. The application should be addressed to Asst. Registrar (Re-evaluation) Kurukshetra University, Kurukshetra 136119, Telephone No. 2455 (University EPABX Exchange).
- 7. Examination Admission form can be had from the registered book-sellers of all the towns on the payments of Rs. 10/- per form or from the Manager, Printing and Publications Kurukshetra University, Kurukshetra 136119 on remittance of Rs. 35/- (including Postage) per admission form.
- 8. University shall not be responsible for delay or misplacement of DMC's sent through UPC / Registered Post.
- 9. Only latest Examination Admission form which costs Rs. 10/- will be accepted, otherwise Fee & late fees will be charged.
- 10. Late fees will not be charged, if the Admission Form is submitted within 25 days from the date of declaration of result or within 15 days from date of dispatch of DMC whichever is later.

Date: 28-02-2025

Roll no.

Regn No.

Name

### KURUKSHETRA UNIVERSITY KURUKSHETRA , HARYANA

Result

RESULT GAZZETE OF MASTER OF COMMERCE SEM-03 EXAM - MAR- 2024

Father's name

### BRANCH 45 (CBCS-CDOE)

Kuli IIu.	Regii No.	ivalile i	atrier s riarrie	Result	
	5501	CENTRE FOR DISTANCE & ONI	INE EDUCATION KURUKSH	ETRA	
0022256501	22-DEO-151	ABUBAKAR GAJIBO	0	ABS	
0022256502	22-DEO-152	GIFTY ASIEDU ASIEDU	0	ABS	
0022256503	22-DEO-153	ABBA IBRAHIM	IBRAHIM DAWAKI	ABS	
0022256504	22-DEO-154	ABDUL NASIR MOHAMMED	MOHAMMED ALI BABA	0438/0650 SGPA	7.77
0022256505	22-DEO-155	AMINU ADAMU MUSTAPHA	0	ABS	
0022256506	22-DEO-156	ARMAYAU ABDULAZIZ	0	ABS	
0022256507	22-DEO-157	DAVIE PHIRI	0	ABS	
0022256508	22-DEO-158	BAKARY CONTEH	0	ABS	
0022256509	22-DEO-159	BASHIR GARBA	0	ABS	
0022256510	22-DEO-160	UMAR UMAR	0	ABS	
0022256511	22-DEO-161	MOHAMED NUR	HUSSIEN	0468/0650 SGPA	8.23
0022256512	22-DEO-162	DANIEL CHISONI	0	ABS	
0022256513	22-DEO-163	ERIC BINEY	0	FAIL	
0022256514	22-DEO-164	FELIX KAMPAUNDI	PETER KAMPAUNDI	0494/0650 SGPA	8.54
0022256515	22-DEO-165	GARBA ABDULLAHI	0	ABS	
0022256516	22-DEO-166	ISAAC DANKYI	0	FAIL	
0022256517	22-DEO-167	SONIA MIYOBA KAGOLI	WISDOM KAGOLI	RE- OESS-15	
0022256518	22-DEO-168	IVA MARLA SENGO JOSE	0	ABS	
0022256519	22-DEO-169	KHUMBOLANE MSOWOYA	ROWLAND MSOWOYA	0478/0650 SGPA	8.54
0022256520	22-DEO-170	MOHAMMED HARUNA	0	ABS	
0022256521	22-DEO-171	MOHAMED MUSE	0	ABS	
0022256522	22-DEO-172	MARGRET MULANGI	0	ABS	
0022256523	22-DEO-173	PETER KATUMBU	0	0480/0650 SGPA	8.69
0022256524	22-DEO-174	SAIVANIVATEE MOOTHIALOO	0	ABS	
0022256525	22-DEO-175	WAGAS ELAMIN	0	0526/0650 SGPA	9.15
0022256526	22-DEO-176	ABUBAKARUSMAN IBRAHIM	0	ABS	
0022256527	22-DEO-177	KONDWANI DIXON YESAYA	YESAYA	ABS	
0022256528	22-DEO-178	KEITH MASEKO	JIMMY MASEKO	0417/0650 SGPA	7.15
0022256529	22-DEO-179	KAISE ANDREW MBOTWA	0	ABS	
0023156501	23-DEO-101	SAMRITY S	SUBHASH CHAND	0466/0650 SGPA	8.38
0023156502	23-DEO-102	SHILPA S	RAJENDER SHARMA	RE- OESS-15	
0023156503	23-DEO-103	SANDHYA M	N MUNIREDDY	ABS	
0023156504	23-DEO-104	NISHTHA G	MANOJ GUPTA	ABS	
0023156505	23-DEO-105	NEERAJ SINGAL	MOTI LAL SINGAL	ABS	
0023156507	23-DEO-106	INDRANEEL CHATTERJEE	PRANOBKUMAR CHATTERJ	ABS	
0023156508	23-DEO-107	PARVEJ ANSARI	SUBHAN ALI ANSARI	ABS	
0023156509	23-DEO-108	PRIYANKA RANI	GHANSHYAN DASS	0500/0650 SGPA	8.69
0023156510	23-DEO-109	SHIVAM JAIN	SANJEEV JAIN	0497/0650 SGPA	8.85
0023156511	23-DEO-110	SANJEEV YADAV	RAJPAL YADAV	ABS	

KURUKSHETRA UNIV Dr.ANKESHWAR PRAKASH
CONTROLLER OF EXAMS

Roll No. 22256504

22-DEO-154 Regn. No.

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: MAR-2024

(CBCS-CDOE)

Name : ABDUL NASIR MOHAMMED : MOHAMMED ALI BABA Father's Name : MARIAM MOHAMMED Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	56 28	40AG	100	A+	9	04.0	36.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	39 27	40AG	100	А	8	04.0	32.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	42 27	40AG	100	А	8	04.0	32.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	46 27	40AG	100	А	8	04.0	32.0
5	MC-309 ADVERTISING MANAGEMENT	40 20	40AG	100	B+	7	04.0	28.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	31 24	40AG	100	B+	7	04.0	28.0
7	OESS-15 INDIA AND THE WORLS	23 8	20AG	050	B+	7	02.0	14.0
	TOTAL	0438		0650			26.0	202.0
	GRAND TOTAL	0438		0650				

RESULT: PASSED AND HAS OBTAINED: SGPA 7.77

> DATED: FEB 28,2025 KURUKSHETERA

Data of issue

Checked by 1. (Clerk)

Roll No. 22256511

22-DEO-161 Regn. No.

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: MAR-2024

(CBCS-CDOE)

Name : MOHAMED NUR

: HUSSIEN Father's Name

: SAKHO HASHI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	53	28	40AG	100	A+	9	04.0	36.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	46	25	40AG	100	А	8	04.0	32.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	52	24	40AG	100	A+	9	04.0	36.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	38	26	40AG	100	B+	7	04.0	28.0
5	MC-309 ADVERTISING MANAGEMENT	46	21	40AG	100	А	8	04.0	32.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	55	25	40AG	100	A+	9	04.0	36.0
7	OESS-15 INDIA AND THE WORLS	22	7	20AG	050	B+	7	02.0	14.0
	TOTAL		0468		0650			26.0	214.0
	GRAND TOTAL		0468		0650				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.23

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

Roll No. 22256513

Regn. No. 22-DEO-163

### RESULT-cum-DETAILED MARKS CARD

MASTER OF COMMERCE SEM-03 EXAM : MAR- 2024 (CBCS-CDOE)

Name : ERIC BINEY

Father's Name : 0 Mother's Name : 0

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN	AB	AB	F	40AG	100	F	0	04.0	0
2	BUSINESS MC-302 ADVANCED FINANCIAL MANAGEMENT	17	AB	F	40AG	100	F	0	04.0	0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	23	AB	F	40AG	100	F	0	04.0	0
5	MC-309 ADVERTISING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	АВ	AB	F	40AG	100	F	0	04.0	0
7	OESS-15 INDIA AND THE WORLS	AB	AB	F	20AG	050	F	0	02.0	0
	TOTAL		***	*		0650			26.0	0.000

RESULT: RE - TILL MAR- 2026 IN: FAIL

Data of issue

		(Cle	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	FEB 28,2	2025				



Roll No. 22256514

22-DEO-164 Regn. No.

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: MAR-2024

(CBCS-CDOE)

Name : FELIX KAMPAUNDI : PETER KAMPAUNDI Father's Name : EZENITA KAMPAUNDI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	48	29	40AG	100	A+	9	04.0	36.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	50	28	40AG	100	A+	9	04.0	36.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	42	29	40AG	100	А	8	04.0	32.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	32	29	40AG	100	B+	7	04.0	28.0
5	MC-309 ADVERTISING MANAGEMENT	52	29	40AG	100	A+	9	04.0	36.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	68	29	40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	22	7	20AG	050	B+	7	02.0	14.0
	TOTAL		0494		0650			26.0	222.0
	GRAND TOTAL		0494		0650				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.54

> DATED: FEB 28,2025 KURUKSHETERA

Data of issue

Checked by 1.

Roll No. 22256516

Regn. No. 22-DEO-166

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: MAR- 2024

(CBCS-CDOE)

Name : ISAAC DANKYI

Father's Name : 0 Mother's Name : 0

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	AB	AB	F	40AG	100	F	0	04.0	0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	19	AB	F	40AG	100	F	0	04.0	0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	AB	AB	F	40AG	100	F	0	04.0	0
5	MC-309 ADVERTISING MANAGEMENT	32	AB	F	40AG	100	F	0	04.0	0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	AB	AB	F	40AG	100	F	0	04.0	0
7	OESS-15 INDIA AND THE WORLS	AB	AB	F	20AG	050	F	0	02.0	0
	TOTAL		***	*		0650			26.0	0.000

RESULT: RE - TILL MAR- 2026 IN: FAIL

Data of issue

		(Cler	rk)		(Assistant)	
Checked by	1.		2	2		
KURUKSHET	ERA					
DATED:	FEB 28,2	2025				

Banne

Roll No. 22256517

22-DEO-167 Regn. No.

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: MAR-2024

(CBCS-CDOE)

Name : SONIA MIYOBA KAGOLI

: WISDOM KAGOLI Father's Name : EVELYN MUNYAMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	37	23		40AG	100	B+	7	04.0	28.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	23	23		40AG	100	С	5	04.0	20.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	43	26		40AG	100	А	8	04.0	32.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	24	25		40AG	100	С	5	04.0	20.0
5	MC-309 ADVERTISING MANAGEMENT	31	25		40AG	100	B+	7	04.0	28.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	56	26		40AG	100	A+	9	04.0	36.0
7	OESS-15 INDIA AND THE WORLS	AB	AB	F	20AG	050	F	0	02.0	0
	TOTAL		**	*		0650			26.0	164.0

OESS-15 RESULT: RE - TILL MAR- 2026 IN:

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

Regn. No.

Roll No. 22256519

22-DEO-169

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: MAR-2024

(CBCS-CDOE)

Name : KHUMBOLANE MSOWOYA

: ROWLAND MSOWOYA Father's Name

: EMELIE ZIBA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	48 28	40AG	100	A+	9	04.0	36.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	43 26	40AG	100	А	8	04.0	32.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	49 26	40AG	100	A+	9	04.0	36.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	30 28	40AG	100	B+	7	04.0	28.0
5	MC-309 ADVERTISING MANAGEMENT	49 29	40AG	100	A+	9	04.0	36.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	63 30	40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	22 7	20AG	050	B+	7	02.0	14.0
	TOTAL	0478		0650			26.0	222.0
	GRAND TOTAL	0478		0650				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.54

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

Roll No. 22256523

Regn. No. 22-DEO-173

# RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: MAR- 2024

(CBCS-CDOE)

Name : PETER KATUMBU

Father's Name : 0 Mother's Name : 0

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	48 27	40AG	100	A+	9	04.0	36.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	49 28	40AG	100	A+	9	04.0	36.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	50 27	40AG	100	A+	9	04.0	36.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	32 27	40AG	100	B+	7	04.0	28.0
5	MC-309 ADVERTISING MANAGEMENT	48 28	40AG	100	A+	9	04.0	36.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	58 29	40AG	100	О	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	22 7	20AG	050	B+	7	02.0	14.0
	TOTAL	0480		0650			26.0	226.0
	GRAND TOTAL	0480		0650				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.69

DATED: FEB 28,2025 KURUKSHETERA

Data of issue

Checked by 1. \_\_\_\_\_ 2. \_\_\_\_

(Clerk) (Assistant)

Banus

CONTROLLER OF EXAMINATIONS

Regn. No.

Roll No. 22256525

22-DEO-175

## RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: MAR- 2024

(CBCS-CDOE)

Name : WAGAS ELAMIN

Father's Name : 0 Mother's Name : 0

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	55 30	40AG	100	0	10	04.0	40.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	56 29	40AG	100	0	10	04.0	40.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	50 30	40AG	100	A+	9	04.0	36.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	43 30	40AG	100	А	8	04.0	32.0
5	MC-309 ADVERTISING MANAGEMENT	50 29	40AG	100	A+	9	04.0	36.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	63 30	40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	23 8	20AG	050	B+	7	02.0	14.0
	TOTAL	0526		0650			26.0	238.0
	GRAND TOTAL	0526		0650				

RESULT: PASSED AND HAS OBTAINED: SGPA 9.15

		(C	lerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	FEB 28,2	2025			

Banne

CONTROL		NATIONS

Data of issue \_\_\_\_\_

Roll No. 22256528

Regn. No. 22-DEO-178

# RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM : MAR- 2024 (CBCS-CDOE)

Name : KEITH MASEKO
Father's Name : JIMMY MASEKO
Mother's Name : GRACE MASEKO

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	36 28	40AG	100	B+	7	04.0	28.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	33 27	40AG	100	B+	7	04.0	28.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	21 26	40AG	100	С	5	04.0	20.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	25 29	40AG	100	В	6	04.0	24.0
5	MC-309 ADVERTISING MANAGEMENT	42 29	40AG	100	А	8	04.0	32.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	61 29	40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	23 8	20AG	050	B+	7	02.0	14.0
	TOTAL	0417		0650			26.0	186.0
	GRAND TOTAL	0417		0650				

RESULT: PASSED AND HAS OBTAINED: SGPA 7.15

		(Cle	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	FEB 28,2	2025				



CONTROLLER OF EXAMINATIONS

Data of issue		

Roll No. 23156501

23-DEO-101 Regn. No.

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: MAR-2024

(CBCS-CDOE)

Name : SAMRITY S

: SUBHASH CHAND Father's Name : SUNITA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	55 25	40AG	100	A+	9	04.0	36.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	46 21	40AG	100	А	8	04.0	32.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	54 22	40AG	100	A+	9	04.0	36.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	44 23	40AG	100	А	8	04.0	32.0
5	MC-309 ADVERTISING MANAGEMENT	39 21	40AG	100	B+	7	04.0	28.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	59 26	40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	23 8	20AG	050	B+	7	02.0	14.0
	TOTAL	0466		0650			26.0	218.0
	GRAND TOTAL	0466		0650				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.38

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

Regn. No.

Roll No. 23156502

23-DEO-102

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: MAR-2024

(CBCS-CDOE)

Name : SHILPA S

: RAJENDER SHARMA Father's Name

: RAJ BALA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	d	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	56	23		40AG	100	A+	9	04.0	36.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	41	25		40AG	100	А	8	04.0	32.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	49	25		40AG	100	А	8	04.0	32.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	47	11		40AG	100	B+	7	04.0	28.0
5	MC-309 ADVERTISING MANAGEMENT	37	20		40AG	100	B+	7	04.0	28.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	58	23		40AG	100	A+	9	04.0	36.0
7	OESS-15 INDIA AND THE WORLS	АВ	AB	F	20AG	050	F	0	02.0	0
	TOTAL		***	k		0650			26.0	192.0

OESS-15 RESULT: RE - TILL MAR- 2026 IN:

> DATED: FEB 28,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

Roll No. 23156509

23-DEO-108 Regn. No.

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: MAR-2024

(CBCS-CDOE)

Name : PRIYANKA RANI : GHANSHYAN DASS Father's Name

: URMILA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	62	24	40AG	100	0	10	04.0	40.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	49	23	40AG	100	А	8	04.0	32.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	53	20	40AG	100	А	8	04.0	32.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	53	23	40AG	100	A+	9	04.0	36.0
5	MC-309 ADVERTISING MANAGEMENT	52	21	40AG	100	А	8	04.0	32.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	63	26	40AG	100	0	10	04.0	40.0
7	OESS-15 INDIA AND THE WORLS	23	8	20AG	050	B+	7	02.0	14.0
	TOTAL		0500		0650			26.0	226.0
	GRAND TOTAL		0500		0650				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.69

DATED:	FEB 28,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 23156510

23-DEO-109 Regn. No.

### RESULT-cum-DETAILED MARKS CARD MASTER OF COMMERCE SEM-03 EXAM: MAR-2024

(CBCS-CDOE)

Name : SHIVAM JAIN : SANJEEV JAIN Father's Name : PRITI JAIN Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MC-301 COMPUTER APPLICATIONS IN BUSINESS	57 29	40AG	100	0	10	04.0	40.0
2	MC-302 ADVANCED FINANCIAL MANAGEMENT	53 28	40AG	100	A+	9	04.0	36.0
3	MC-303 SECURITY ANALYSIS & INVESTMENT MANAGEMENT	48 27	40AG	100	A+	9	04.0	36.0
4	MC-304 FINANCIAL INSTITUTIONS AND MARKETS	46 29	40AG	100	A+	9	04.0	36.0
5	MC-309 ADVERTISING MANAGEMENT	49 23	40AG	100	А	8	04.0	32.0
6	MC-314 ENTREPRENEURSHIP DEVELOPMENT	51 28	40AG	100	A+	9	04.0	36.0
7	OESS-15 INDIA AND THE WORLS	22 7	20AG	050	B+	7	02.0	14.0
	TOTAL	0497		0650			26.0	230.0
	GRAND TOTAL	0497		0650				

RESULT: PASSED AND HAS OBTAINED: SGPA 8.85

DATED:	FEB 28,2025		
KURUKSHET	ERA		

Data of issue

Checked by 1.